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Subject Code: 1025504 Date: 03/06/2016
Subject Name: Statistical and Quantitative Methods in Planning-11
Time: 10.30AM-12.30PM Total Marks: 50

Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

Q1 (a

(b)

Q2 (a)

(b)

(b)

Q3 (a)

(b)

Fill in the blanks
1) Full form of ANOVA
2) For ___ condition the value of Zc and Zt is indicate the hypothesis is
accepted.
3) Inregression analysis if one variable is considered is called
4) If sample size is <30 then it follows distribution.
5) The y*test is also known as
Short questions
6) What is Regression?
7) What is hypothesis?
8) What is linear programming?
9) What is theoretical value of Z at 90% confidence level?
10) For which value of “R” the hypothesis is accepted and rejected?

A transport company owns four trucks. Develop the regression model to
estimate annual maintenance expenditure from the following data.

Age of Trucks (Years) 10/ 6 | 6 | 2
Annual Maintenance (Rs.) |14 |14 |12 | 8
Calculate the coefficient of correlation and determination. Estimate the annual
maintenance expenditure for 8 years.
Following information is available on sales of TV’s
X (lakhs) | 20 | 180
6 (lakhs) 6 24
Assume R=0.8. Find the likely sale if 40 lakhs is spent on advertisement.
What would

OR
The cost of travel by two wheeler for various trip length is shown below.
Trip Length (km) (8|6 |3 [8 |5 |6 |6 |6 |5
Travel Cost(Rs.) |75 |4 |8 |6 |8 |8 |7 |4
Develop the regression model to estimate travel expenditure.

The mean weight of 400 workers is 67.47kg. The population mean and standard
deviation are 67.39kg and 1.30kg respectively. Apply hypothesis to check that
can you consider the sample whether it is in population or not. Take C.L.=95%
An administrator of stimulus given a data of 12 patients which indicate
increased in blood pressure level. The doctor claim is that there is a increased in
B.P. level check whether the doctor claim is right or not? Take C.L.=95%
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OR

Q.3 (a) Whatis Type I and Type Il error in hypothesis?
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It is assumed that 20% of travel in train is in 1* class, but when a sample of 400
passengers was taken, it was found that 70 passengers travel in 1% class. Prove
whether the 20%travrl in 1% class is acceptable. Take C.L.= 95%.

The attendance of the student of class | for the week is given below.

Day of week | Attendance
Monday 66
Tuesday 57

Wednesday 54
Thursday 48

Friday 75

Whether it follows the uniform distribution or not apply chi square test. Take
C.L.=95%.

Three variety of wheat are used on 4 plots and yield per hectare is obtained as
under. Is there any influence of variety on yield values apply ANOVA.

A(Ha) | B(Ha) | C(Ha)
6 5 5
7 5 4
3 3 3
8 7 4
OR

Write short note on ANOVA and explain One way and Two way ANOVA.

University result have shown for 500 students as under

University result | 1% class 2" class 3" class Failure
Students 40 110 170 180

Check whether university claim is correct or not. Whether the samples follow

the distribution claimed by university. Take the proportion of students

(10%,20%,30%,40%) apply chi square test. Take C.L.=95%.

Formulate the linear programming by simplex method for Maximization of
Z= 12X;+3X,+X3 subjected to

10X 1+2X5+X3<100

TX1+3Xo+2X3<77

2X1+4 X+ X3<80

OR
Explain decision making under condition of uncertainty.
Discuss the application of statistic in urban planning.
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VII. AREA UNDER STANDARD NORMAL CURVE
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2.1 | .4821 | .4826 | .4830 | .4834 | .4838 4857
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2.3 | 4893 | .4896 | .4898 | .4901 | .4904 4916
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daf. 1100 L050 Lo 1010 £L005

1 3.678 A3 12,706 31821 83,657

2 1.836 280 4308 6.965 9.925

3 1,635 2253 382, 1.541 5341

4 1.533 2,132 2,776 3.747 4.504

5 "1.476 2015 2,571 3.365 4.032

8 1040 1.943 2,947 a145 707

7 1.415 1685 2365 2,908 3.469

8 1397 1860 . 2.308 2.8% 3.355

q 1.283 1.833 2362 2,821 2250
10 1,372 1812 7228 2764 3.189
1 1383 1796 2.201 2718 1,108
12 1.356 1782 2179 2561 3098
13 1.350 L1771 2,150 2.650 3.012
14 1.245 1,761 2.145 2,624 2877
15 1.341 1.753 2,131 2,602 2947
1 1.337 1746 2,120 2583 2021
17 1.333 1,740 2,110 2.557 2.898
18 1330 1734 2.101 2552 2.878
19 1.328 1,728 2.083 2539 2,861
20 1.325 1725 2,086 2,528 2845
21 1:325 1721 2.080 2518 2.631
22 1.321 177 . 2.07% 2,508 2.819
23 1319 1714 2,060 2.500 2801
24 1318 L7 2,064 2.482 2,787
25 1518, 1.708 2,060 2.485 2.787
26 1315 1.706 2.056 2479 2713
27 1314 1.703 2.052 2.473 2.771
28 1313 1701 2,048 2.467 2.763
29 131 1682 2.045 2468 2,758
inf, 1282 1,645 1.960 2228 2,573




VHI. VALUES OF CHI-SQUARE

o X3
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19 Z27.2 30,1 42.9 36.2 3868 13.8
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27 36.7 40.1 43.2 47.0 496 55.5
28 i a7.8 $1.3 44,8 48.3 510 36.9
29 39.1 42.6 45.7 49.8 52.3 583
30 40.3 53.8 47.0 50.9 53.7 8.7
as 46,1 49.8 332 57.3 60.3 66.6
40 51.8 55,5 593 83.7 66.8 73.4
45 57.5 617 65.1 70.0 732 80.1
50 63.2 67.5 714 76.2 79.5 85.7
55 68.8 - 73.3 77.4 32.3 §5.7 a3.2
[=4) 74.4 79.1 533 88.4 2.0 o956
85 80.0 238 59.2 04.4 08.1 105.0
70 85.5 80.5 53.0 100.4 104.0 112.3
75 91,1 56,2 160.8 106.4 110.3 1188
<0 06.6 e ! 1058 112.3 116.3 124.8
45 102.1 107.5 112.4 113.2 122.3 1310 .
90 L07.6 13,1 118.1 124.1 128,34 1372
a5 113.0 1188 123.9 130,0 134.2 1433
100 1185 1240 1206 134.3 140.2 149.4




